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hRl=0.45
Mr = PxSv (2.1)
P
Sv
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5b. 2
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D’Alembert ( )
6.
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D = aztAxGA= 08GZas (2.3)
Gz +Ga
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loop
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3 -1
( -1) loop loop
(Equilibrium Equation)
(Hook law)
(Compatibility)
3
(Compatibility Equation )
Ih_
J
! i



L

No

2.1
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chassis
2.6
loop
(Statically determinate basic system)
1
Redundance Xi— xn
1 3 5 nl
2 ; 6 n
1 Mo ,
Qo Minimum of the deformation work
Qo
Redundance xi  «x xi, X2y vory x IN.m

MI,M2 .., M
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M = Mo+ x|M) + XeM2+ - + x M (2.7)
Mo
MI, M2  Mn Redundance Xi,x2, X = IN.m
) h
1, M2
W= ,Zojﬁd[ (2.8)
Win
M (2.7)
lh h
E
/
6. Redundance Minimum of the deformation work
y Sl »
Vo Tax3 T odxnl (29)
» 0 » 0 »
dx2 'dx4 ' dxn (2.10)
XN=x2:x3=x4; ... X =X (2.11)
' m Redundance = m-1
-1 3(m-1)
6
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0.5mjghj/b
hi
b
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loop b 1 D 29

h 1-H
2.9 loop D
Dh/4
F* . EA , DM M,
DR XV
0Ty e (
P— it 2 S
() ()
2.10 loop () Mo
D() MI Redundance
X=1N.m
M= Mo+ xM, (2.12)
CowiEo— + P A 2.13
( ) 7w1,—2—EHéM23u Je s 0\m 2H (2.13)
M2:M02+2MWﬂx M O2X 2 (2.14)
2E dw _
7 =0=-3-\mOMdl +2a- WMl +0- JmaM [+~ wwmoan (215
22 e L - N o (2.15)



\m o M,dl _-Dbl
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b1z _6/2 [B6(1+2)
oM ,dI = --1-6D62
b 12
\M 2di =
_ 1 6 A A -
raene R -5 70
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377 + 277
1=6:7, =176
3 _ bD_
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2.11 loop M
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(2.18)

(2.19)
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221,
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hRl
' (Torque) hRl

2.12 1 hRd
2.12 P
hRd 3 P
¢
(2.24)
_A A A Y
v 23y+ 28py+ 2 pH+ 2t R (2.24)
hRd
Sv,Sh ,
Sfv,Sth ,

fVfiH ,
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(PR

c =
2.25
fycn=p - (229
Fv
Cv
Cov
Mr=- Psp (2.26)
Mr
7% fiy (2.27)
L M 228
/1 y SHC\H le SFHC2H ( )
CH
= A (2.29)
Ctr (Torsional Stiffness)
T g 230
+ - + - - -+
ySyCjy sfvclv SFHC2H SH C\H CTR J
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241

2.13 Qx, Nz, My, Qy, Mx, Mz
Lloop
2.13 Lloop ,
) ox , Nz, My
Qy , Mx, Mz
2( -1)

loop

(Erz)
(Erz)

(I Section Modulus ( )
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MO = G11l (2.31)
Md (torsion)
lth h
G
v /
( Kinematics)*

2.14
2.14 3100 b

/

Az(2) AZ

/ 72
| 2AZ 2Az

~b~ ~p f

/
(2.31) MD Ith

MdfMdii: -. . :MDnvMDnMD2: . - - :Mdii = 1:1 :-e¢  ItHE- --- i (2.32)



MO, Mon,..., Mon,
MDi,M 2, ...,M Dn
Iti, lurltm
M, 1
Mp; - l
I l : 11 ‘Qn : T

2.15

F.1-(Mdi+ Mon+ .. . MDm )+ Qull+Qui(l+ 2)+

MDI
Mr
F-b ./ i
MOl =
71
al
[, 1lhai t al
- lann~—
2 2
K
=s(hY

, bA2b-3x)

2

vtQm(ll+hse-v1) =0

(2.33)

(2.34)

(2.35)

(2.36)
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